Apartment in Msida



Msida, Sliema and St Julians Surroundings



€298,000

Total Rooms: 3

Bathrooms: 1

Floor Area (m²): 66

Reference No: 240231092-54

P☐ Bedrooms: 1

Apartment - For Sale - Msida

MSIDA - APARTMENT - Third floor Apartment served with Lift close to Junior College. Property comprises an Open Plan - Kitchen/ Dining/ Living, large Bedroom, a Bathroom and Front and Back Balconies. This apartment is Freehold, ready built and to be sold fully finished including bathrooms and doors. Ideally for rental investment. For viewing or more information, kindly get in touch with your preferred RE/MAX property consultant.

Features

- ✓ Lift
- Electricity Utility
- Skirting
- Balcony

- Ceramic Floor
- PVC Piping
- Double Glazed

Rooms

Kitchen/Living/Dining: 9.8 x 2.97 m (29.11 m2)

Double Bedroom : 5.3 x 2.84 m (15.05 m2)

Bathroom: 2.86 x 1.6 m (4.58 m2)

✓ Hallway: 5.72 x 0.99 m (5.66 m2)

Open Space : 2.84 x 3.69 m (10.48 m2)

Open Space : 2.22 x 1 m (2.22 m2)

Gallery











Mauro DeFlavia RE/MAX Centerparc - Qormi

M: 79604060

E: deflaviam@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, FIrst Floor, Triq it-Tigrijiet, Qormi, Malta